80-1415-915-10
FAOBRIET—Y

0286-72800
IFPO)—FHrT
RESRL

[©20:0:0]
) 1

|00 rmm:_, |

0267-72600
FrOI—9H

0212-71500
EGRA/YFI—IL

MA. Model
L RS

0267-72400
Sydavv—o

A
=
%
0223-73900
ETTL—F—IL

0279-70700
GRZ~LB

A T |
N © 0279-70800
GR3AJLC

0279-70700
GR3~LB

NGREENISPECIAL'S ASTENN

= 0 | +45 |
| : [ iasex1 | o7 sor000%1]!
! :

L v | Jdua |

0267-72100 =
BAv—4 0267-72300

R AXI—0
RV —B BB




1/30 JL—L4 1

A
W
s/ ~|~|~]|—~ ~|—~
N AR AT B AT A
my my oy m mjm *—ﬁ.
B INNNNENEN !
NN ININ BN |
2 iRkl [k
. e et A e
©
4’
o3
=
]| || N || T
E
-t
Iw ©
o x
~
~|S o]
o S %
3| [EEE i
ol 17 [wE=EE] |2
%) Zlelglo
<| |& [Es<|Z]Z]|B|C
quV\UIc-\oHoHP*'b\Is»\IPm:O.
N HRREEERE
2 DD D2 -
iwiasvwwwﬁﬁ
N R I e et s
N B[N [ b s iy
SIS KE = B
ofev]eufev]evfoy
~[o|o|s|ala
|l =|o|olo]lm
olalo|alala
o| |o|lojo|e|o|n|e|a|s
=] 000010011%-
— NI R PR =S
(] 000713130R
®| |d|o|o|m|=|m]o|—|B
_ o O RS BN S s D
~ ~i~I~=—]r—]—]r—{r—|—
©o| [oloelol |1 1|11}l
d| |N|a|a|olol|o|o|o|o
ol 1 |o|o|o|x|w|w|x]|n|o
Hm987654321=_ﬁ

N




2/30 Jb—L 2

LA
SNWAIS
,ﬁ(nﬂﬂ%

=)
112224264&%_
©
=
~|2 o
— nn
S|E #
6P8 [+
Z|==
\./W
NP E
HwﬁV\nTb.Tme_AS
0\‘\\._INL.+/|§XX
S| 5 2 [’ | 4
RIR[=LDLG,
2 ||| .TMJH/AEAI.E\
s b 5 B B
¢ RIK|=|<|BHEHT
AN[N|AN|NIN| N
NI ER=IE
~l=|o|o|o|o|mr
oooooog
O|O|O ||| jw]|oo|Q
—|—=|Q|o|o|o|@|o|0|ns
=l T(T]T|T|T| TP
001531330%
lo|jlo|Mm|m|r~]—|—|©
I 1] ] |=~—lNjOIrS|~|~
~isis|l— | =] —|—|—]|—
ololo|[T 1]l ]]
QNN
O|O|O|w|w|oo|cojoo|o
987654321——__...




3/30 JL—L 3

0218-71100 Ay )JLIET) M8X25
0267-40200 FAT7T—)—
0267-40600 NJLMREZB
0267-61100 HAN—HE4FRILEA
0267-61200 HA—EfRILEB

80-1415-562-20

FTATANIIVEZZCMP

83-1415-312-00

TFRES 9X30X3.2

89-1211-080162

INBIFRAAR LS MBX16

89-1233-080162

INBI AR L M SW.PW)M8BX16

89-1611-080042

INRVRAFVE M8

89-1631-080042

BEA/NMEAEFYE M8

89-1713-080002

EREES 8X22X1.6

89-1750-080002

NTrEE ¢8

89-2151-070300

F—(FA)7x30

89-6123-005703

VA LRLB-57 SG1000

%-w»mm~mws:;a;a

HEES

o
Zn

Iﬁ_;_;[\).—n[\)—m—x—x-;—a[\)—x—x—t—n




=y
11111112321113112%
BN
) o
W S12le| (3 ng
o Xz
ol 14 18 SIEIE D e B
h\~,40)W.) Nl |~
x| ININIX[212(3|13]e=|<lE |o
O O el B D il A N B P B RS ST
ﬂu+—\+f_=*a+f+f~/2__HW73mm8._h_11
L R EEREE R
Y o o [Z[|H|X% S |
s}bsbllvsb71bﬁ@“686.—u /
DIDDLID| DN &SI MR
NNNENNR A R e e
BB HID B K[ BB B x| W] o
< SR EEEEEEEE
T |=|a|oa| oo =N
SR EEEE R R
ololo|ojo|olo|a|e|o|o|e|o|o|e|S|=
A ==l = I E E E R E E E R
5783389__________n—
_ l=l=l2lo|o|=|x|w|a|n| =N =|o|H
J|b|b|o|R|<|~|w|o]|a|F|=|=| =] ||=
i B B O N G5 B B D B S N N B
b ~irsirsirsir~ir~|~j—j—{v—|—|—| =] —]|ON|NN|™M
wololo|olololol T |||l of0)l
N S B N N B N B B AR E A A R
olojo|ojo|o]o|x|o|w|w|w]|wn]w]ofwn]w
& S [ RIS KT BN I A P R R Y S
N g _
<




5/30 JL—L 5

0223-70800 FITTUavRLAR
0223-73300 EITTV AT
0267-41100 F47T233>CMP
0267-41200 FITT 3> CMP
0267-41300 T332 F7—LCMP
0267-70100 A9V FIALY¥—
0267-70200 ETISVFIAY—
80-1030-558—00 FATT A INR

83-1032-765-00

T3 T—)—

83-1415-975-00

SV A=y T)LM6

89-2111-030022

A)TEY 3X22

89-2111-050022

ATV EY 5X22

89-2511-000160 B IEOER 16
89-2511-000170 BEAIEOE 17
89-2512-000400 JeAIEHE 40
89-2521-000120 ERLIESHER 12

89-3115-062034

A7) 4 6203 2RS

89-3510-016150

DUJw<a 16.15

b R N BT BN B R R B e e e A N E R S

HEES

o

=]
[=]:]




6/30 JL—L 6

£ |
mn
<
™ )
o = 8
NE o8
| mwM b=
o
| o|Rl~||ElS|2
L 3.5./SM6. 0|0
__W b_X4m._.\|( - ol
i A Y S IR ] P i v P oy
BN NAEERRIE L ERERR X|X|o
ERENEE R RRE RN
jjaU$718%ﬁﬁ8§$nﬂM
st/sj.Tm) _mu_._ukl
OTTTEN 1 48 4] -< S L |46l [
\\/ s/ ~/ N#\ é— sb/ d '-/-"-/ 0 7 ((»
N8| RIS | AR ERR ] ) | [+
Hlm|m|[lE|-R|H [BH | <[ S [BH < |44 >
ololola]alala]a]|a]|ololo
olo|d|m|o|s|o|o|o|v|B|S
LiS15(S1812(8(818]SI38| 8l
olololo|lo|=|d|=|o|R|o|2|I|D|B|=|D|HE
818121815 |5 21313 T 2 2L 2 2 e
2122256283 (2=12| 3| 3|8| 6| N
Tl ~jowlNjwlolr~ir~ir~ ]|~
~ir~|r~|r~isf=-l—-|—]—}—j—]| =] —|N|N|©
P ESIEEIEEIEEL O R R R R R R R T B N
N|AN|N|NIN|[O|m|m|o|o|o|o|o|o|oio|o
O|O|O|O|O|0|co|ow|o|co|co|co|co]o]|cofjco|0
”WHMHW_”W987654321=F




7730 L—L 7

17  |0244-51700 BHN—EF7—LA 1
16  |0244-71600 BHIN—/ % 1
15 |0244-75500 AHN—ETF/\R 1
14  [0267-52100 HH/\—CMP 1
13 |0267-52200 B OI A 1
12 |0267-71100 5T IN— 1
11 |80-1488-748-00 BHN—2FHRILE 2
10 |89-1111-060142 FNARILE M6X14 3
9  [89-1253-080352 FE{H /N BRIV ET) M8X35 1
8 89-1561-080002 INBIUFvR M8 1
7 89-1581-060042 EEfFs&F vk M6 3
6 89~1671-100042 INBRIRARSYE M10 2
5 89-1711-100002 EREESE 10X18X1.6 2
4  |89-1713-060002 TES 6X18X1.6 3
3 89-1713-080002 R 8X22X1.6 2
2 89-1750-080002 INTEE 08 1
1 89-1750~100002 INREE 610 2
|_ES HEES B4 BE ke




8/30 JL—L 8

~_._/._
A\ #e
™ =)
)
ol
ANfjr—|r—{—| ||| — |||+
Foat
N
D
})
ol
Nls
=
AN &
S og
w_Ac 5
=4 L o
= (o) [Ty
a2 %bhh_m M
mmaw D“/“vaﬂ.@ ~
I 2NRRISCES
S [RID{IDIN] Mgl TR
SN NN M
N Y A I I A e
NBINNNNNNBIEE
e e N PN T e ]
Sl5|3
(8|S
olololololo]|o|o|x|a|= |
SRR R R
—{g =N N|No|N|O|F
~I~|w|o|n|w|n]n|B]|n] B [HE
N N I N e
o|lo|s|~l=|=|<] ] —|—|n
d|d|m]|olo|o|oleol 1]
alald|lalala|ala|o oo
ololo|o|olo|o]|o]x|x|w
Clo| 7654321%




9/30 JL—L 9

B

|-el<olec] <[

T
o B e
o|d a o
SEENER G
C._A.MML:L
L2 P52
/B..WW..T1.¢,®.
L X RIR e
. o0
AN R el ¢
53 9 b/w_m._l/._/._J/Am.E._&
N NN
§ ) o[¥<[=|=|eH <)<
75, YN
\\\\:./, y o evey
—d Y 2131218(8|8lur
‘4\ ,.\ ololalalala
Bl 2857151 5 2
e 2(2|= |zl |2 l8| 8=
/:/\\t\ 1 e o ~]=|r=
= o|s|T|T|T|TIT|T
dlalo|o|olo|o|e
EIEREBEE R EE
oip

8
7
6
5
4
3
2
1
_§




10/30 ZL—L 10

HRES

12 [0234-21300 MR 1
11 |0267-20300 FOvRA—%(+CMP 1
10  |80-1614-742-10 MBS REARILEZIT 1
9 83-1210-425-00 L/\—iEY 10 1
8 [83-1713-166-00 FEEE10x 80 1
7 84-1723-739-00 MESHE/N\KILCMP 1
6 [89-1233-080162 INEY AR )L R(SW.PW)MBX 16 4
5 [89-1711-100002 FRES 10X18X1.6 2
4  |89-1711-120002 TES 12X22X2.3 1
3 89-2111-050022 AT GEY 5X22 1
2 89-2131-100002 REY 10 1
1 89-2181-100502 EEEEY 10X 50 (FNEF) (UAr—hk) 1
&= 5E

HE%




11/30 L—L4L 11

£ |

!

o

i
o ™
=|> S
olHh Xlo
©

LR E

"

L | [~
77\\\+/n._.\. ﬂm._uem_
77#%%&797@%
N D[P [IRIIRAE N1 R )N ey
oA HEE|IR [ > EH W

S8
ololo|olo|o|o|olo|N|S
=== === E = = R =
~NlRO|—|N|m|F|w|o] L] T =
00111111131%
BB |w|wv|wv|w|w|w|w] =]~
[ U O I O I IS
~|~~~|=~[~]~]=~]~]~|
ol|olololve|we|ol|ele|i]]
N NN NN NN N NGRS
=1 t=1t=1t=1t=1t=1 t=1t=1C=1 -1 =]
Hm987654321=_w




12/30 L—L 12

13 |0267-31400 5% 34X ASY (£)SB 1 3,4,6,89,10
12 |80~1032-412-00 S5 84YASY (f) 1 34,6789
11 [0267-31300 RAJLIRACMP 1

10 [0267-31700 3.50-5 RV F1—(S) 1

9 80-1032-407-00 RA JLset , 2

8 80—1160-401-00 3.50-5 57 34 2

7 80—1160-404-00 3.50-5 AAN¥Fa—T 1

6 [89-1211-080162 INRIRAARILE M8X16 6

5 89-1211-080202 INEUFRAARILE M8X20 6

4 |89-1611-080042  [/MEVKFH+vb M8 6

3 89-1750-080002 INTREE ¢$8 12

2 89-2132-080002 REV@RITIESD ) 8 1

1 89-2191-080552 FLEEE S 8x55 7Y 1 4

&= HEES H&EA H¥E %




13/30 FL—L 13

13 [0267-31400 54934 ASY () SB 1 3468910
12 |80-1032-412-00 59 34X ASY (f) 1 346,789
11 |0267-31300 RAILIRZACMP 1

10  |0267-31700 3.50-5 AV F1—IJ(S) 1

9 80-1032-407-00 R4 JLset 2

8 80—1160-401-00 3.50-5 55584 2

7 80-1160-404-00 350-5 ZALYVFa1—T 1

6 89-1211-080162 INRURAEARILE M8X16 6

5 89-1211-080202 INEUREAR LS M8X20 6

4 89-1611-080042 IZNRIRAFvh M8 6

3 89-1750-080002 INREE ¢8 12

2 89-2132-080002 RE @R(TIEDF) 8 1

1 89-2191-080552 HEEE > 8x55 TV 1

| &S BaES B HE =




14/30 7D—l». 14

HRES

Bl

i

33

e

16  [0267-20200 JA N7 —LCMP 1 #F 73> :0267-80600
15 [0267-30200 "1 JLARACMP 2

14 |0267-30300 A7 ASSY 350-4 1 11,12,13
13 |0267-30400 350-4 B4 1

12 |0267-30500 3.50-4 ZA X F1—T 1

11 [0267-30600 w1V 1

10  |0267-30700 ARSI\ — 4

9 0267-30800 A ZARHN—T L 4

8 83-1210-313-00 EE® 8x32x3.2 2

7 89-1211-080202 INEIFRAARILE M8X20 8

6 89-1213-100502 INBIFRAARILIMEBT) M10X50 4

5 89-1253-080252 FE{H /Mg 7 F 7R JLIM(BT) M8X25 2

4 |89-1611-080042 INURAFvh M8 8

3 89-1631-100042 EEfHIMNEARAFTYE M10 4

2 89-1750-080002 INTEE 8 10

1 89-3115-060044 A7y 4 6004 2RS 4

—E%




15/30 IL—L 15

14 |0211-31800 TL—F/\wF 2 (K) 1
13 |0267-01500 JL—%Hh/\—CMP 1
12 |0267-70400 BEEIJL—3J/4Yv— 1
11 |80-1614-314-00 JL—F%74% 1
10  |80-1614-315-00 5|lERT)Y 1
9 80-1920-313-00 TL—FHhHN—ZAR—H— 1
8 85-1445-317-00 TL—F/ x> (M) 1
7 85-1711-315-00 TL—FFS A 1
6 85-1711-317-00 glERT)Y 2
5 85-1711-318-00 JL—FLa1—tvyk 1
4 [89-1113-060302 FNEARILET) M6X30 3
3 89-1138-060122 7RARILMSW) M6X12 77 yb 3
2 89-1750-060002 NTEE ¢$6 3
1 89-2511-000140 AT 14 1
&= iHEES G BE EE




16/30 IL—.1\ 16

9 0267-01000 2w 3 ASSY 1
8 0267-70500 YARISYF I — 1
7 0267-70500 YAROSYF I — 1
6 83-1493-255-00 ZUFXA—/\—0OvoF+vyb MI0(HE) 1
5 |89-1253-080202 EE{H MR ABRILMET) M8X20 4
4  |89-1254-101253 EE{H N AR )ILMET) M10X125 (IE) (2=4 1
3 89-1711-060002 EES 6X13X1.0 2
2 89—-1750-080002 INRESE ¢8 4
1 89-2132-060002 REVERIFIESDH) 6 2
_E% BEES BEE BE E%




17/30 L—L 17

6 - BAA—FLOFI7A— 1
5 0267-20500 TS549k 1
4 10267-40410 EGT S vhCMP 1
3 0267-71200 4 8 Xyk30 1
2 89-1135-060122 73R ILMIT-SW)M6X 12 1
1 89-1233-080202 INBIFR AR )L F(SW.PW)MBX20 5
&= HREES BE% HE B




18/30 JL—L 18

10 |0234-60500 )34 JLA/A—CMP 1
9 0234-60700 mARTRILE 4
8 0267-20110 JL—LCMP(H) 1
7 89-1211-100452 INEURAEAR LS M10X45 4
6 89-1581-060042 BEftRFvbk M6 4
5 89-1611-100042 WBURAF VR MI10 4
4 [89-1713-100002 FESL 11X25X2.3 8
3 89-1750-060002 INTEE ¢$6 4
2 89-1750-100002 INREE 610 4
1 9006-0130 EH25D 1
= BEES BEE BE 55




19/30 \URILER 1

11 0016-72500 E/GAMYT AL VF 1
10 |0267-10610 FOHAECMP 1
9 0267-10700 Abwsi— 1
8 0267-70300 FA42TL—F T4 — 1
7  [0267-70600 F ) —A—=B—(FTIR)) 1
6 0267-71700 Frot5—04v— 1
5 89-1111-060142 AR M6X14 2
4 |89-1631-080042 B INEREBF Y M8 1
3 89-1713-060002 FEESE 6X18X1.6 2
2 89-1750-060002 INREE 96 2
1 89-2521-000060 ERILHE 6 1
_E= HEES B&E A nE BE




20/30 /\VFJILER 2

0245-71100 AZN—F)INTa(A M2
0245-71200 EirhtyhEy
0245-71300 IPrryiPZi
0253-79100 LA— YT L 127
0267-10410 FxoavkCMP
0267-10500 Fz L /\—CMP
0267-11400 Fx>>POvykB CMP

80-1310-268-00

I I59T IR

89-1211-080202

IZNRIRAARILE M8X20

89-1611-080042

INBUFRASvh M8

89-2131-120002

REY 12

89-2151-050200

F—(HF#)5X20

|§1*;I-*Nw.hmo:\|oo<oa:‘;;

HEES

i

%—Ld—h—h—-&—k-_k—ln—k
NN | =—
[z

I




21/30 \>FILER 3

N
R

Wi
AN
12 [0267-10200 FA7ToaLiN— 1
11 ]0267-10300 EfTTavb/— 1
10 |0267-70100 FA29SYFITA N — 1
9 [0267-70200 ETISVFIA Y — 1
8 |0267-70400 BEIJL—FI74Yv— 1
7  |0267-70900 TL—F5|E/\R 1
6 0267-71700 Fryo5—04v— 1
5  |80-1417-255-00 L/A—iEY 10(F) 1
4 |83-1210-425-00 LA—iBY 10 1
3 [89-1711-060002 FEE 6X13X1.0 12
2 [89-2521-000050 |[EEIE&HER 5 4
1 89-2521-000100 EELESHE 10 2
&S BEES BEA BE A




22/30 /\>FILER 4

GxH 7o beu

89-1531-060143

EAARHF VML —bF

89-2131-080002

REY 8

HEES

12 |0212-11100 AMT AAYFAT— 1
11 [0212-71100 IOV ARAMNTRAYF 1
10  [0212-71400 URJLhp27.2 1
9 0267-10110 /\>EJLCMP 1
8 0267-70500 YARISYFIAL v — 2
7 0267-71300 RAYFIN—FRR 1
6 0267-71510 AOvMILT ALY — 1
5 83-1560-414-00 NVELGY)yT27 2
4 83-1530-463-00 =D e 1 B
3 83-1761-457-00 L/\— 2
2 2
1 2
&S BE

I




LK 4 "
22/33 \VRILER TAB 20 b0 1

e,

12 10212-11100 AT AYFAT— 1

11 [0212-71100 IR T RAYF 1

10 |0212-71400 UKL ¢ 27.2 1 |
9 0226-70400 28y JLLN—(3 27) 1 y 243
8  10267-10110 N\2EJLCMP 1

7 0267-70500 BARISYF I — 2

6 0267-71300 AAYFIN—RR 1

5 0267-71500 AOYRILD A — 1

4  |83-1560-414-00 NYRLTUyT27 2

3 83-1761-457-00 L/\— 2

2 89-1531-060143 EfRAEYIMetEL—R S 2

1 89-2131-080002 REY 8 2

B2 HEES e R63W EE




23/30 X7HRYORER 1

11 |0207-06100 IF7J)—H— 1
10 ]0267-50200 18R 1
9 0267-50400 FXTF7HRyHORECMP 1
8 80-1535-618-00 ANASIVIAE—E 1
7  |84-1713-607-00 I\yExy 1
6 89-1232-080182 IMNEFREARILMSW) M8X18 4
5 89-2150-050250 F—(@A)5x25 1
4 89-2512-000520 SRR IESHER 52 1
3 |89-3111-062044 R7Y2Y 6204 1
2 |89-3111-062054 7YYy 6205 1
1 89-5121-255208 A4 L1 —)L UE 25.52.08 1
B BEES & s B8




24/30 X7HRYIVRER 2

10 [0267-50100 FT7ERYIX 1
9 0267-50300 Htdh 1
8 80-1535-622-00 ANLIIWNIA5—H 1
7  |83-1415-662-00 Z4IL—IL AP30.55.18 1
6 [89-2150-050250 F—(MH)5x25 1
5 [89-2511-000200 BF LSO 20 1
4 |89-2512-000550 7 LESHER 55 1
3 89-3111-060064 7124 6006 1
2  [89-3115-062054 A7) %4 6205 2RS 1
1 89-5121-284708 ZF 4L —)L UE 28.47.08 1
_E% B2ES e BE B%




25/30 Sy a il 1

0267-01600 NJLMNRZRT—
0267-01700 Y AL 959FF7—LCMP
0267-01800 Syiavh—k

80-1920-197-00

HARIS5YFI AV %1 (%E)CMP

80-1920-198-00

YAROT9FIAVRIT (FH)CMP

83-1484-255-00

ZUFA—/"\—Avo+vbk+ M8

83-1493-255-00

ZUFRA—/N—Ovy9F+vyb MI0(HRE)

89-1253-081153

EE4HINEE R AAILRBT) M8X115(a.=40)

89-1253-081203

EE{H B ABRILNMET) M8X120(2=4~0)

89-1253-081403

BE{F /N BRIV NBT) M8X140(2.=40A)

89-1253-081453

BB RILNET) M8X145(1=40O)

89-1254-101203

EEfH N7 AR ILIET) M10X120(F1E ) (=4

89-1543-080002

INBIRAFV(SW) M8

Im g Y Y Y
du“”“"“mo’“mwo—xmm

HEES

s

% —_— —_—m 2= == —
HWM a|w o N




26/30 S a Ep 2

0267-00700 A ARHIN—

0267-01210 Sviavir—RX B
0267-01300 HEBBY—X (X)
0267-71800 < — )L JLEM8 X 207588 7o

80-1032-119-00

A

80-1575-152-10

A5 yFEHBBY—X

83-1020-349-00

§R/Sv¥> 10

83-1415-127-00

< — LA JLI(SW)8 % 20

83-1415-662-00

F4IL—)L AP30.55.18

83-1415-672-00

*95& 30

189-1232-080162

INEEFSERILMSW) M8X16

89-1251-060102

B RAARILE M6X10

89-1254-100122

BEfHIMNERAAILE M10OX12EE )

89-2512-000550

IO 55

89-3111-060064

74 6006

89-3111-062024

A7) 6202

89-5121-153007

Z4 )L —)L UE 15.30.07

89-5221-018000

oY% P18

89-5230-060000

=Ty k— 6

%-Nw»moﬂmws:;a;a;:;a

HEES

B

el Bt B K DN R e e Y LN L I B A S B A I

3%




27/30 Sy avEp 3

18 [0223-00310 SIRTH—4H 1
17  10223-00400 IR TA—V 8 1
16 [0251-04110 HiEj CMP 1
15  |80-1310~138-00 JIFRT)Y 1
14  [80-1415-114-00 Y ARISYFITA—Y 1
13 [80-1415-150-00 HEEY 1
12 [80-1425-112-00 FTI2AYITA—5 8 1
11 [80-1575-141-00 YARISyF14T XY 1
10  [80-1575-162-00 HAROSYFRT Y 1
9 |83-1415-671-00 A)5E 22 1
8  |83-1633-362-10 RAFART Y — 15X30%X1.2 1
7  [89-2111-030020 ATV GEY 3X20 1
6 89-2111-050020 AT HTEY 5X20 1
5 89-2120-200202 ZE 2X20 1
4  |89-2511-000150 BAIEOE 15 1
3 [89-3111-062024 7YY 6202 1
2 89-3410-075000 k7. 5 1
1 89-5121-122207 AL —IL UE 12.22.07 1
ES BRAES HBas K& EE




28/30 Syl avEl 4

83-1310-371-00

AZ ATy v— 20X30X1.0

83-1830-368-00

AZAFT Y y— 18X26X1.0

89-2511-000150

BAIEDOEH 15

89-3111-062024

NFY 4 6202

18 [0223-00500 e 1
17  |0223-00600 FTE#20TX7 1
16  |0223-00700 FEH14TX7 1
15 [0223-01100 2821 TX7 1
14 ]0223-01300 2828 T X7 1
13 [0223-01400 38 1
12 [0223-01600 38128 T ¥ 7CMP 1
11 [0223-02400 HAS5—L11 2
10 |0223-02500 H5—L6 2
0267-00300 INYHPXTFCMP 1
0267-00400 3820 T ¥ 7CMP 1
0267-00500 216 TX7 1
0267-00600 30T X7 1
0301-00500 F 28 1

1

4

1

3

BE

qﬁg—nww#mo\nmw

HEES

HEz




29/30 Sy a iR 5

18 [0251-04110 i CMP 1
17 |0267-00900 ALY 7—LCMP 1
16 [80-1415-114-00 YARISYFIA—Y 1
15  |80-1425-112-00 TI2AvH74+—58h 1
14 |80-1575-140-00 Y AR5 yFE 1
13 |80-1575-141-00 YAFEISYFI14TEY 1
12 |80-1575-142-00 YA OSYFI8TXT 1
11 [80-1575-162-00 YARISYFRT)S 1
10 |83-1415-671-00 XPSE 22 1
9 |83-1633-362-10 ASAR Ty — 15X30X1.2 1
8  [89-2111-030020 AT)HFEL 3X20 1
7  |89-2111-050020 ATYTEY 5X20 1
6 89-2511-000150 EHARLEOEH 15 1
5 89-2511-000200 B OHE 20 2
4 [89-3111-062024 R7YL45 6202 1
3 89-3510~-012200 DUTwia 1220 1
2 [89-5121-122207 4L —)L UE 12.22.07 1
1 89-5221-009000 o4 P9 1
&5 BRES B4 BE &%




30/30 =y a el 6

89-3111-060064

7Y% 6006

89-5121-153007

ZF 4L —)L UE 15.30.07

89-5221-018000

[ DPZ AT

HEES

14 [0267-00700 A RANHIN— 1
13 |0267-01110 Sviavh—R k& 1
12 10267-01400 HEBBY—X (H) 1
11 |0267-71800 < — )L )L M8 x 2075 B 7 i+ 1
10  |80-1032-119-00 AL 1
9 80-1575-152-10 YA ISy FE#BBY—X 1
8 83-1415-127-00 L — LR JLE(SW)8 X 20 3
7  |83-1415-662-00 F4IL—)L AP30.55.18 1
6 83-1415-672-00 AO5&F 30 2
5 89-1232-080162 IMEZFSEARILNSW) M8X16 4
4 [89-2512-000550 e IESHE 55 1
3 2
2 1
1 1
&2 BE

s




